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91.1-91. 12 2,122.95 2,110. 49 99.41
92.1-92.12 2,352.00 2, 334. 30 99. 25
93.1-93. 12 2,445. 47 2,407. 14 98. 43
94.1-94. 12 2,579.10 2,528. 86 98. 05
95.1-95. 12 2,684. 41 2,617.55 97.51
96. 1-96. 04 882. 81 857. 39 97.12
96. 05 221.23 213.57 96. 54
96. 06 222.93 213. 20 95. 64
B 13,510. 90 13, 282.50 98. 31
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) 1, 306. 01 1,301.07 99. 62
EER- 514.97 511. 01 99. 23
EN] 1,170. 01 988. 38 84. 48
B 13,510. 90 13, 282. 50 98. 31
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91.1-91.12 138. 50 126. 04 91. 00
92.1-92. 12 136. 59 119. 37 87. 39
93.1-93. 12 151. 67 113. 84 75.06
94.1-94. 12 164. 10 114. 02 69. 48
95.1-95. 12 170. 49 103. 76 60. 86
96. 01-96. 04 52.42 27. 11 5l. 72
96. 05 12. 35 4.774 38. 38
96. 06 12. 39 4.71 38. 01
Bt 838. 51 613. 59 73. 18
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